2012/2013 G2A

Test G-2-2.0

| KOMPLEKSNA STEVILA

A1,

Narisi mnozico kompleksnih stevil, za katero velja:

a) (Re(z) < 3) A (|Im(z)| < 2) (3)
b) |2 — 2i| > 1
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(42.

Izracunaj:

a) 47 +14° + 4% + 41 (3)
) % er ©
c) (34 2i)(3 4 2i) — |12 +i| — iF (3)
d) (1—1)° (3)
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3.
Resi enacbo:
a) 2P +z=T7+1 (4)

b) z = 22

Matej Mlakar, prof. 2012



2012/2013 G2A

A4,

| Naj bo |z| = 3. Izracunaj |3 — 2|? + |3 + z|2.

A£5.

| Naj bo f(z) = —% in z; =1 —4. [zracunaj zo = f(21), 23 = f(22), 24 = f(23). (4)

é Kriterij ocenjevanja:

Matej Mlakar, prof. 2012



